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1. RrfrpR et 1x8=8 (

Answer as directed :

() AfGTe TN WEY W fean | ‘
i

Define personal disposable income.

(b) TR wdRem e s sReE e
@Bl *neF forrn o i

Write one difference between micro-
economics and macroeconomics.
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La )

fc) TurR e foa |
Define money.

(d) YR *Reg 3 TS G |

The quantity theory of money is
associated with ‘ ‘

() Irving Fisher
(i) Alfred Marshall
(i) A. C. Pigou
(iv) 1. M. Keynes
(= T&T0h1 1M Sherexy )

( Choose the correct answer )

(e) =R/ @weh wg 9

Which of the following is correct?
) M,= currency in hand + demand
deposits

(ii) M,= currency in hap

d + demand
deposits

deposits + POst office savings
Currency
deposits

() M4= in hand +  time

( Choose the
Correct
24P/1055 e )
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(3)

() o Sepfer et

Define deflation.

(g) Say’s lawd <51 FoRe R TraEg +41 |

Mention one implication of Say’s law.

(h) T AR Tercsiel dRTON AF 0-75 A, (903
e 899 I 23

If the value of marginal propensity to
consume is 075, the value of
investment multiplier is

@ 2
(i) 3
(iii) 4
(iv) 2:5
(o TecH1 A Sferean )
( Choose the correct answer )
2. vy G forn (R ceien fofbT) - 4x3=12

Write short notes on (any three) :

(@) “ERR oeRErR AR e Ao

Scope and limitations of macro-
economics

(b) T@RA “ARTTSE
Quantity theory of money
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()

(d)

(b)

4. (a)

(4)

TErHIfeR o

Types of inflation

AT BifRw SomEeTE

Components of aggregate demand

TR yRacaRr I 4 12
GDP, GNP, NDP, 3% 9 |

Explain the following concepts :
GDP, GNP, NDP, Personal income

ST/ Or

TRE TwRe WS GDP e Ry
AW I GDP I @RI Fem I
&R ? S 4T | 5+7=12
Explain, with appropriate examples,
the notion of GDP deflator. Does

increase in GDP imply increase in
welfare? Discuss.

ABE S I I AW RSO AT 3T |
MMS AW WW TR SPREPIR

SHICEOA 411 6+6=12
Explain the expenditure method of
computing national income. Also -

discuss the difficulties of estimating
national income.
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(5)

<1 / Or
I bH oA WA R oqEio st wee
YRS G2re g SR 2@ A 4 | 12

What is circular flow of income? Explain

the circular flow of income in a four
Sector economy.

(b)

5. (a) &maawﬁﬁmwoﬁawaﬁ
FACHATCARE SCAD SSRCEIAT | 12

Discuss critically Friedman’s restatement
of the quantity theory of money.

%<1 / Or

(b) @A WA & o2 @AY Sewenea &2
@S aEeR [{fen weeean Ry o
I 2+4+6=12
What is monetary policy? What are the

objectives of monetary policy? Explain
the various tools of monetary policy.

6. (a) EFHIRT IRE A & Io 2 J@rFifet TRy
B ERR TR @ AT 740 | @RI
IR @FEE @14 FRA 2 2+6+4=12
What is meant by inflationary gap?
What leads to the creation of

inflationary gap? How can inflationary
gap be prevented?
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(6)

e / Or

b) TR woe AR @ R 72
W @y sRa [ ow@aa sy oF
TS o129 $RI o qH 2 ACEAGA F4A | 4+8=12
What are the costs of inflation? What
are the fiscal and monetary policies that

can be adopted to control inflation?
Discuss.

7. (@ SN wWOW WH R REPe gl
FACAGAPIR, ST P41 | 12

Critically discuss the classical theory of
determination of equilibrium income.

%<1/ Or

(b) PBam TEe @ i RIw IR F40l

Keynes 3 ST 9 @791 ©GHe 37
o 57 8+4=12

Explain, with diagram, the mechanism

of multiplier. What is the relevance of

multiplier in Keynes’ theory of income

determination?
* % K

|
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